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e | -
Find the number which when multiplied by 15 is increased by 196?

M 14 , ' B) 20
©) 26 | I B Nt 2B
@ erar 15-6 Au@pssiiu@b durpg 196 siflswrdpg) erafle) Sibs erammenané setr

*®) 14 | B 20
(C) 26 Lo . (D) 28
| [ st “a? - b?
Simplify : —2* .
implify a2+2ab+b2)< o'
(A) a’-ab+b’ ®) a®+ab+b?
© a+b | M) ‘a-b
a®+b® a-b? |
FHEGS | —

a? + 2ab + b* Sy

\/az—ab+b2 ‘ - B) d’+ab+b®

© a+b | ® a-b

Which term of the series 5, 8, 11, 14, .... is 3207

(&) 104w | (B) 105t
" 106% | | ©) 64
320 erairug) 5, 8, 11, 14, .. eremmp eufleansulen agg@muﬁm@ 2 miiy?’
(A) 104 aug . (B) 105 augy
(C) 106eg (D) 6deug
| What percent of 60 is 722 | 2 ' | .
A)  80% | \K 120%
©  84% D) - 65%

60 eremiden erggaman 55655 72 & @) (HES (PigLLD.
@A)  80% ®) 120%
C) 84% D) 65%
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5. Ram can do a work in 15 days Rahim is 50% more efflclent than Ram The number o?days
Rahim will take to do the same piece of work is

@A) 7% - \,ﬁ( 10
© 12 (D) 14

T ereueu g GCeuameanis 15 prsafle PSSO, Fabb eresLioum UﬁLb—GmuJ &L 50% Slenreurs
wuunt erafled, padid i Hib sallwuns 1G5 Geuamean TEHHEET BTL_&atled (Lpig LILImT?

A % ' ' B) 10
€ 12 D) 14

6. IfA:B=5:7andB:C=6:11thenA:B:Cis

(A)  55:77:66 ! (B) 30:42:72
(C) 25:49:42 M30:42:77
A:B=5:7CwgubB:C=6:11aafld A : B: C-en wdiiy

(A) 55:77:66 - B) 30:42:72
(C) 25:49:42 | (D) 30:42:77

7. . 170% of 1140 =7

& 1938 | B) 1824

(C) 1968 (D) 1881
1140-é 170% ereucuerey?

(A) 1938 ‘ (B) 1824

(C) 1968 | (D) 1881
8. If the sum of a number and its square is 182. What is the number?
A 15 B) 26

(0 28 T s

R TSI DAGEN QUiTEESMSE Fal g aned 182 dlevL_&8ms;) cralled Bibs erair wing)?
@A 15 ' ' B) 26
© 28 - D) 13

MVIGS/18 o | | .



3, .What is the HCF of a®b* + 2a%b* and (ab);—4a2b_9? |
@A) ab oy | | ® a2’
©  a’’ s | " % }
a* + 2%, (ab)" - 4a%* ayfu ceimaaien  Gun.ov. (HCF) -
(A) ab | '_ 0 - (B) a2b3‘

(C) a’b? , - D) a?b?

10. The H.C.F. and L.C.M. of two numbers are 84 and 21 respectii/ely. If the ratio of the two

numbers is 1 : 4. Find the larger of fhe two numbers.
@ 12 ®) 48
M 84 | 4 (D) 108
Q) eresmaefien LB.QIJAIT.@.I. Ln;bg)ub LS.Q[.JW.LD;@GU)@GUJ 84, 21. 65 craimaar 1 : 4 ararm e9ElsSEle

SieLpgaTeren. erefled seumbled Cuflu GTeHT 6T ?

@) 12 - (B) 48
(C) 84 . .' (D) 108
11. Find the area of a semi circle ‘ofiradius 28 em.
(A) 144 cm? | ; (B) 1220 cm?

- (C) 238 cm? : ' M1232 c‘m2

<7 28 Q&.18. 2 enl_wi Sieniy @Jx'_L_‘e;;C_,(é,]Giﬂ LIFLILIGTEY SITEHT.
(A) 144 5.Q0s.5. (B) 1220 5.0s.18.

©) 2388085 | . (D) 12325088

. | | 5 - MVIGS/18
: ' [Turn over



112:

13.

14.

~ Simplify (

(561 x 561) - (31 x 31))
530

(A) 530 ol (B) 561

(€) 381x31 M 592

) 561 x 561)— (31 x 31
T [( ‘ 520( x ))
(A) 530 A (B) 561

(C) 31x31 : (D) 592

Ifa:b::3:5 and b:c‘::7:2 then a:b:c is

(A) 3:35:10 » : M-21:35:10 .
© 21:5:100 D 21352
a:b::3:5 womd b:c::7:2 aafléd ab:e

(4)  3:35:10 | (B) 21:35:10

© 21:5:10 : D) 21:35:2

The pqtential barrier of germanium PN J unctioﬁ is

(A LlleV | i B 07V
" 03V | ® 11V

Ggroreflwn PN sbdé@ib Wenarpss oiyer gl

A  1.1eV B) 07V

(© 03V D) 1.1V

MVIGS/18 | 6




15.

16.

17.

Which of the following Noble gas is used for Inflating Aeroplane tyres?

\/ Helium | (B) Neon

(C) Argon \ ' (D) Xenon

Qesreu(pLd eThs 2 Wil euruy s lorariseien Lwirsef ‘@uuqm;{)ﬁ)@u Lwerl (& mg?

@) el 3 B) Hurer

©C) yrsmen D) Qeermer

Inter molecular hydrogen bonding is present in

(A)  O-nitrophenol e K Water

(C)  Salicylic acid | (D) Salicylaldehyde
@@)&é@mg&;@é;@ésﬁml_uu L emanL_yemer enanrlianUll QupmieTer Gairiotd
(A)  O—eomL Gy Searmed _ B) B

© &rraS]é]aS]é; Sibleotd ‘ (D)  smell&levmeviqanam(®

Fogisa colloidal solution of

(A) - Gas in Liquid

W Liquidv in gas

(C) Gasinsolid

(D) Solid in gas

ueflliyens erestLg)

A)  SBirwgde eumy 2 6TeT SapOD
B) mrruaﬁ_lc’o Bowb 2 6Ter salpLold
(C) Samogsler aumuy o @Tar & pLoid

(D)  eumyefleh SlawTiod 2 6T SatpLoD

MVIGS/18
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18. Statement : There is passive movement of nearly 70% blood from auricle into ventricle.

Remaining 30% is pumped into ventricles by artirial contraction.

Reason  : Opening of the atrio-ventricular valves
(A)v Statement in correct. Reason is wrong
Statement and reason are correct
-(C) . Statement and reason are wrong
(D)  Statement is correct but the reason is not explaining the statement
wpy - glflunseldmbg Ceuen Nafdaeps@ar 70% @Qréshd sramsGa 3 gﬁ\@f)a;uﬂleb
Sfpi@Spg. ereslu 30% Qeven Médlaa@ns@e o fu sméssse Halssiu@Ans)
sryewnid :  erLAGwr Geusn Mageomt eurdaysedr HpliLisme |
(A)  sapy &M, sTyewd S
B)  spy &, sryewrid &
O  =mpo seuy, srrawTd Seum

(D)  embdm &M sryewnd sapheom eferds eldene

19. A permanent birth control method in féemale is
(A) Copper—-T M‘ubectomy
(C)  Cervical cap (D) Contraceptive pills

QueiTaEBéHTaR @@ Blenewirer HmssenL (pepm

A srou—T (B) T EXATNY: T,

O smssmL_§ Savré seuay (D) smasamL Lorrg'é,]m J&eT ‘
20.  Which vitamin is known as “Sunshine vitamin”? _ ,

(@), 1 "Vitemmia w/ Vitamin D

(C) Vitamin E , (D) Vitamin K

“@rﬂ@ gafl eul Lifled” eramy 6Tbg epeul L Llenes DADWP&ESLILIHEDE)?
(A)  @eu LiflarA . (B) @arldaD
©) @ flaE D)  eeu Liflen K

MVIGS/18 8 - *




21. Which.of the following are the gaseous planets?
Mercury, Earth ‘ (B)" Venus, Mars

M Saturn, Neptune , (D) Pluto, Earth .

9 6eu (HeUEnTeu DMIET eUMLECHTETSET cTenel?
(A ysan ued - : (B) Qeuerefl,Qscueuni

©) oafl Opligwen D e Gm yef

228 India’s research stations ‘Dakshin Gangotri and Maitri’ are located in '
(A) . Arctic circle | \M Antartica
(C) International Space Station D) Himaléya
- @i ‘stfer saCarsil wHmd Gc;mgGUuﬂ’ eI puIals G muysemer BlmpeSicieTer LGS
(A  <yhgs UGS | ] (B) SieRILTTgsT

(C) sieuGse aflarGeuat Hleneowid D) @uwiene

23. Which of the following is the determinants of population growth?
(A)  agriculture and industrial revolutions .
(B) improvements in medical care

© protection from the natural calamity

M all are correct

n&s6T Ogrens cuaTTéESlenw ﬁ,]ﬁsmuﬁ]uusmm GTeneu ?
A)  Gaienmeir wHGId ASMPDH LT-E

B oopses e GaGadDs

©€) Qupeos Guu@maaﬂmgg‘)@'ﬁr@ LITGI&TEHS6D
D)  s@asgd &l

L 4 : 9 ' - MVIGS/18
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24.  The literacy rate in India in 1991 was
(A) 7585 | (B) 54.16
(C) 6538 M 52.10
@bSu erpssiay Seib 1991 & 3

@) 7585 Y B) 54.16
(©) 6538 (D) 52.10

25.  Name the economists who got the first Nobel prize for‘ the econometrics.
(A). Marshall and Samﬁvelson |
(B)  Ricardo and Knight
(C)  Kicks and Dalton
M Jan Tinbergen and Ragnar Frisch
P&6T (pFedled Siemellwied Qun@mng,rmgﬁ]gba;rr& Comue ufles QubmeurseT wri?
A)  orraye wHHb erapCeucdees
B)  AgsmrCLr wHmb anpL
(C)  &aev wpmib Lmedr e

D) grrm g er@urser HMID Fréet o9 Mol

26. “The laws of economics are to be compared with the laws of tides rather than with the simple

and exact law of gravitat_:ion"’ by ‘
&7 Marshall | ®) Adam Smith
(C) Keynes | . (D) Ricardo

Qurmaflwed eNdepws erafiw gmeﬁ]mmrrm yed miliy efene aﬁ]ﬁas@mrr@ uUbpeumng L. s
sieasaflan elfsGort(® niembd eremgy sadlweui

A)  wriagd | | B) - G0l
(C) Sens D) NssmCun

MVIGS/18 10 : L 28




21 The 74" Amendment also known as the : pfovides for setting up of three

types of Municipal bodies.

: M Nagarpalika Act
(B) District levei Panchayat
(C)  Gram Sabha Act

(D) Cantonment Board Act

e eMuiu@n 7Tdaug SLHMmSSD (pEID  UENSLITET BEITLE  DjemowiL

QUmELSDH S euams QFIEDS.
(A). - paiumells sL1D

B) . wrau Ll UEgETLES)
(C)  &gmo sepu LD

(D) @uremieu gaLeurflu st 1b

28.  Pick out the false statement (Only one statement is false)

(A) Administrative Reforms Commission was setup on January 5, 1966
3 M Under the chairmanship of 1\/‘Ior'arj.i Desai with 15 members |

(C) The commission submitted its 20 reports
(D) The commission studied the major ten areas of public administration
seupner saherp Ggiie) Qews (e LG seupTar Fo.Hm)
A  BHieurs EHmHs geamubd garafl 5 19666 &.mmé;esuul'_l_@
B)  Qumyris) Casmiar seaemuwoiler & 15 o pridarser -
C) Qs ymenrwib 20 @1@&;@55@m gmﬁﬁ]g_’r,g,gj‘ ,
D) Qb5 eamub Aurg Hireurssgan 10 sarbisemer QpUbSIE6TE

IS R TR MVIGS/18
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29. . The word ‘Socialist and Secular’ were added to the preamble by

- 41t amendment
w 4274 amendment
(C) 46 amendment
D) ‘44"h arﬁend?nenf
‘FOSTLOWL  wHYD ‘FowE  gmiferenin’ GT6IT aJrr‘r'rg,Gmg, THS  DTHLienioliL gmsssden Lig
walamruile Cergsiu_L g | |
A) 41 ez Hppsid

B) 42 @Jg,j Hmssid
(C) 46 eugy Hmssd
D) 44 g dpssd

30. Which one of the following rights was described by Dr. B.R. Ambedkar as the heart and soul

of the Constltutmn"
(A) Right to freedom of religion
(B)  Right to property
(C)  Right to equality
M Right to Constitutional remedies
Dr. B.R. SHDCUISETTED @BHw rHweenoliGer @swpb auﬁ]@fn eTeT mfrmﬂ&a;ﬁxul'_l_ &@DD@DL

2 fenio 6rg)?

(A) FoWL 2 flenio
B)  Qanggifewo
(C)  swsgeu 2 Menid

D) ewduemoliGbEr Ll &ire srgmb 2 Mento

MVIGSA8 ' 12 ‘ ' .




31. Ithat is the age qualification for a member of District Panchayat?

\/_21' o ® 2

() 30 : - D 35
e L u@&rru_sé;gj o pbemreugnE@ g 563
A 21 | (B) 25

© 30 . - (D) 35

39.  The legislature of Tamilnadu had bicameralism upto the year

33.

.,/ 1986 . ® 1988

© 1996 | D) 1998
DB eThHS @J,GW@ ey Frenel L aingems QuDBmHeS!
(&) 1986 . ®) 1988

©) 1996 | D) 1998

The hormone renin is produced by the

(A) Pancreas V (B) Gall Bladder

(C) Liver Kidneys

Qraflen erermed gn)rrr"rGLDrrsmm o HUSSH QeldDg).
(A) smewTwid : - B) YssLeU

(C) a6y - (D) @gﬁg&@&ﬁ

13
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34.  Ashoka the great actual coronation : ‘ ‘ : ®

(A) 273B.C . (B) 272B.C

(C) 271B.C Mzsch

&T AHCFTST U &L @urrgnumu TOD e () 6T ?
@) 27384 | “B) 2724.0p

©€) 271 dq | (D) - 269 &.ap

35.  The guardian of vShivaji was
(A)  Malik Amber ‘
(B)  Balaji Viswanath
Afzal Khan

\M Dadaji Kondadev

Aeureluferr LngsTaIGT
(A) ‘ LOTedld LT -

B)  urery eleveusrs
©)  ssdaner |

D)  sremd Q&ne&;sTLGg,GiJ

36.  Who used the Indian soldiers to fight against Alexander?

@)  Cywrub | S @y Dariug I

@ Bands 7 Darius III

ar SQessmarL i el QuELnder Curg) sieupsAsdrms @pHu eSyisamar HwerL(hgSw webresr

wimr?
(A esye ‘ B)  wserd GLAwev
(C) ' Qe&rgenev D)  epeprd CLNwav

MVIGS/18 | . 14 . .




37.

38.

Match the following :

(a) First Battle of Panipat 1. 1540
~ (b) Battle of Bilgram 2% 1526
(c) Battle of Haldighati 3. 1556
(d) Second Battle of Panipat 4 1576
@ © © @
@A) 4 2 1 3
B 2 4 3 1
ovs i H g 3
Oy 2 1 3 4
Epaam_suhep QUITHSS!S :
(@ s ureiuc. Gurr 1 1540
(b) Qedgmb Gumr 2 1526
(c) apmodar Gu nﬁ 3. 1556
(d) @uewrmb urefliul Gumi | 4 | 1576

(a) (b) (© (d)

@A 4 2 1 3
®B) 2 4 3 1
(@) k2 1 4 3
D) 2 1 3 4

The member of Rajya Sabha are elected indirectly. How many members Who' are
distinguished in the field of Art, Literature, Science and Social Service are nominated by the
President? ‘ '
% 12 Members : (B) 13 Members
(C) 14 Members 4(D) 15 Members
Gueeal aglulﬁlwrrasm LD (PSLOTS Gg,rr(r_r,@g,@a;a;uu@aﬂg)rrrra;m agsemans GUT &, @w&;@um,
Sifedlwed WwHMILD FAPSL Lieafufer ApLiLrs LienilNbeeuTEemer @ LTe SenaauTe BlwudsSprrser?
A 12 Guirser (B) 13 Guirser
(C) 14 Guitser px ol (D) 15 Gurser
15 | -~ MVIGS/18
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39. When Subhash Chandra Bose reached Berlin, he was welcomed by? ; >
(A) Hitler ) ‘ ' ‘ |
(B)  Goebbles -

(C) Hindenberg
M Ribbentrop

suTay shdly Cumev Guiredler BSTD QFenn GQW@ Seueny eurGaudmeu T wimr?
@) e

B) Casnwudev

(©) Ma%n_eifrufré;

D)  Auémgrm

40.  The Maratha Chief who had correspondence with Keralavarma and Tamil rebels was -

(A) . Yadul Nayak

M Dhoondaji Waug

(C)  Pazhazhi Raja

(D) Raja Wodayar

sllpssms Ceimbg Cumprelse oo Cayer cuerGenr(h QgrLme @@‘r_r,g, WITSEWT wmr?
@) wuge prus | a3 1
B) s euré
(C) uwé grgr —
D)  yuggr e wimi

MVIGS/18 ’ 16 ) ' *




42.

43.

41

Which is called as ‘Pink City’?

A). Jodhpur - yJaipur

(C) Jaisalmer m . : (D) Udaipur
‘@errdleutiy BT’ eTen SenpsaUL(heug Ty ?

A)  Cgraum - (B) quﬁgr’r

(C) QguiieaGuor D) esiyi

The First Indian Prime Minister who reS1gned his post was

(A) Jawaharlal Nehru \/ Morarji Desai
() V.P.Singh n (D) Chandra Shekar

(PSET (PS6dled el ug,aﬁlmu_l Urrg'g]mrrmrr Qalg @bl ﬁ]ug,mrr
(A)  geuanitered (3;_5@ _ ' B) G]Lorrurrrrg @g&rru_l

©) 9.9 A s D) spdy Cosir

Who find that the proteins MbnB and MbnC are causes for the functions of Methano

trophic bacteria?
(A) Niels Bohr and Team

(B)  Nicolaus Copernicus

w Emiroson Weig and Team

(D) Robert Hooke

SMTewILD GTeIend sem [HLlig SeuiT wnm?
(A) ﬁeuao Gﬁnﬁ LHMID GP

B) BsCaraey Caruireaflwien

(C)  afCprgen Geuuis LHHID G

(D)  gruil ap~&dl

17

‘MbnB wHmw MbnC <A LTSBISHET STe nggGmeﬁnlﬁ]és Lidste Awiméeafen G&-mgi)urr@as@é;@
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47. “Pragati” Scholarship Scheme of the ‘Gover.nment of India is meant for

Higher education of girls

\M Technical education of glrls

(C)  Secondary education of girls

(D) Elementarﬁr education of girls .
‘Gred wsHw Syflen 2 g56ls Qgmens ELL 1D
(A) Quansefler o wim seNsaTs

B)  Quamsafler Agmhlph soellssTs

(C) Quawsaien @ Hlenes asebaﬁlé;asna;

D) Queawsafler g rbu &OENEEHTS

48. Which one of the following is not included in the National Air Quality Index?

‘(A)  Sulphur B (B) Nitrogen di oxide

(C) Lead | " Methane
Spsawrcupmier ergl Caslw sTHm) gr;é; MWL CarasaiiuL_alldene?
(A)  sbseD (s6eu) B) ‘GD‘ELU%GN—GDL—@{{,&SGDGD®

(©)  arfub (Lead) i (@) BsCEen

49.  Which Indian has been awarded the WBC Asia Boxer of The Year Award, recently"
M Neeraj Goyat (B) Mohammed Ah Qamar
(C)  Shiva Thapa | | (D) Akhil Kumar
glugHe, pEw WBC TR G515 saenL 68l (HE ng)g) QHHuwiir wmi?
A)  Brg Casmwg - (B) (y)asl.omg,j .3{615] aLomi
(C) Seurgunm . ' D) e @orm

. 19 DR D MVIGS/18
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50.  The ratio of 9 months to 1 year is | @

A 2:3 \/3:

4
©)  4:5 ®) 5:6
B0 VGG S orgEsfncilppes sarGiay

@ 2:3 -y  ® 3.4
@5 o . D 5:6

51. If three numbers are 2a, 5a, 7a, What will be their LCM?
v 7a | ~ (B) 65a
. © Ba . D) 170q°
2a, ba, Ta erenm epes) aé’ura;aﬂeirr B&flm Qungl eue %ras’vr %rgj?
(A) 70 la ) : : B) 65a

© 75a ‘ | o 70d

52. A trader buys an article for Rs. 1,200 and marks it 30% above the C.P. He then sells it after
allowing a discount of 20%. Find the profit percent.

A) 5% ' B) 41%

. - D) 6%
@@ efwrurfl @6 Gurmeer 1,200 eurkidlami. Gan iger oi_sselmwsd God 30% GHss
eNenaé@ 20% semenLg Qar@adprT. elpp eNeneulier erud % eree?

A 5% | B) 41%
© 4% | D) 6%
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93.

-54.

55.

12 men can do a piece of work in 24 days How many days are needed to complete the work

if 8 men do this work?

A 28 | - . ,/ 36.

© 4 | o sz |

20 Coumamw 12 wallgisd Coripg 24 Br_safley @Lora;aﬂmg)mrr 265 Caumavanws 8 wafgiaer
Ceibgl pig6a eTdgamen Bl et co;b@m?

@A) 28 | (B) 36

C) 48 | D) 52

A sum of money at simple interest amounts to Rs. 815 in 3 years and to 854 in 4 yéars. The

sum is

A)  Rs. 650 | | (B) Rs. 690

W Rs 698 . () Rs.700

R dsTens g‘;GUﬂQ.IL..Lq.US]GI) 3 m@pggﬁsu 5. 815 @ebeﬁg)gj <15Gau, 4 @J(njl_g,ﬁev - 854 oy flmg) cran,rprrm

é{pg@g,rrme;crmmmm? '
(A) @650 . | B) . 690
©) @698 | D) . 700

The G.C.D. of a® b*, ab®c?, a®b’c.

v ® ot
© a' | | , D) okt
a® b*, ab®c?, a’b’c -én 15.Quma - Ty -

@)  ab B Wt

© a'c | D) o’
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56. Simple interest for an amount is Rs. 120 at 6% per annum for two years. What iS the

amount, if the simple interest is Rs. 90 at the same rate of interest for 3 years?

(A) 1000 ' : (B) 1500

\/ 500 | D) 1750

- @@ QstanssE, 6% ailly aﬁg,g,ﬁso 2 oaTHsErES saf el iy 5. 120 fng. SiCs ey cig5Sle

apeTn) T (HEHEHEE Q’;Gﬁﬂ@JL_Lq_ . 90 erafler dgTens ereucieTe
@A) 1000 “TH AT B) 1500
(G 500 ‘ (D) 1750
- 57. 2
(R d and L =—, find the value of < =4
b b5 c 1 @G
7 ' 7
s/ E B o1
| 25 l 24
6 By
C — D) —
© 25 ®) 25
a 4 . . b 15 o o? =i .
T 5 wpPd — =T afle " +a2‘—66T wHlureg)
7 7l
A — B —
A) o | B) o
6 g
C — L
© %5 . D) o
58. The number divisible by 9 is
(A) 18736804 (B) 83360715
(C) 44679013 14681439
O GTEITM GTERTERTITE) GU(GLIL & Falg.UI GTEHT
(A) 18736804 , . (B) 83360715
(C) 44679013 - (D) 14681439
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59. A 4 cm. cube is cut into 1 cm. cubes. The total surface area of all the small cube is

(A)  96cm? , . (B) 24 cm?

& 384cm? | (D) 284 cm?

4 Qg5 2 evi_w ser J@Umnm@ 1 @& e mLw Aflw sar sgirmsens Qeul LUu@Hpg orafler APlw

s &g Eisafer Quorgs Uyl wrg?
(&) 96 Qa.8? | (B) 24 Q5.8

(C) 384 Qs.52 (D) 284 Q.15

SO (171 x171)— (69 x 69)

240 |

| M 102 | " ®) 240

© 17 - D) 69
sy LTL 172; (69 x 69)

A) 102 | | B) 240

© 171 | D) 69

61.  Find the L.C.M of 72, 108 and 2100

M 37,800 (B 2100
(C) 36,600 3 _ (D) 28,400
15.Qum.w srewr. 72, 108 wHmib 2100
A) 37.800 L ® 2,100

(C) 36,600 ) (D) 28,400
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62.  The first Indian Communiéation satellite put in geo-stationary orbit is,’

(A). PSLV (B) Aryabhatta

\/ APPLE | (D) Rohini

Lluflerr spmieu LU urengudler Agnamasbsm i ssns @pHwur g wae AeupassGarar

(A)  Qerevereve B) flwuler
(C)  uler ' : (D) Cyréewfil

63. The system of unit accepted universally was
@)  CGS | .~ (B) FPS

- 4 MKS (or) ST unit ' (D) HKS

2 & SieTeNer SiemaTeUrTID FHMIFE QETETeTiLIL L DHOGAPED
@A) CGSwep | ®) FPS gpep |
(C) MKS (=eeg) SI wpenp - (D) HKS e

64. ‘Bunsen burner’ works, based on the principle of

(A) De Morgan theorem
\f Bernoull’'s theorem
©) | Surface Tension
(D) Photo conductivity
Ep&eMTL HoGIeuSSlen c"qu}u‘uml_uﬁleb Yevgen erflseen QeweonHEng
(A) gwrrser Capmbd
B) QurG@erared Cammid
©)  uriy @ueilens
.(D) QeutiuLfles &L Gge
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65.. [ The compound formed when aniline is heated with Fuming sulphuric acid at 353K is

| p- amino Benzene sulphonic acid |
(B)  o- amino benzene 'sulph(_)nic acid
(C)  m- amino benzene sulphonic acid
(D)  p- nitro be_niene sulphonic acid
Siaflellenar Lensuib &sbse @{L&GD‘&SQLG%T 353K Qautitu(pggin Gurg %@mrr@d) Gemold

v A)  p- SWOCar QLic&enn 56b;°°(8urr66ﬂé; Sbletd
B)  o- SfGarm Quiean Feds.CGurafs oidevib
€ m- @mS]Geurrf Quen&er g6vo-GLimelld jlevth
(D) - p- eopl Cor Quenerr seve=CLiraflé oiblevtd

(5

66. Find the incorrect statement :

I Ozone depletion will affect crop y'iel’d
- IL Ozone depletion will not cause dé,mage to fish larvae
III.  Ozone depletion Wiﬂ cause skin cancer in man
% ITonly |
(B) Ionly

(C) III only

(D) I, II and III are iﬁcorrect

saupran mrréw‘r‘wé@.@ Coip0s0

L @Gemen @Qﬁuﬂémreb ellenensged LITHEEG0D

II. @Geren Quoliy Ber GErasafle) e LTALILID THLRSSTS)
III.  eCgrer @Quum& wealls@msE Carad yHnCHTL ghu@n
A II wi@m:

B) I wi@w

(C) I e @id

D) L II, III epempuis seugy
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67.

68.

69.

What is the contribution of India towards the world mica produ‘ction?'
4a) 40% M 60%

©) 66% - (D) 50%

© 8 MEET o HuGHuder @bHlwimellen Liki@ wimg?

A 40% ' B) 60%

(C) 66% D) 50%

Which of the following deserts does not lie in the Northern Hemisphere?

(A) Gobi S \M’ Kalakari

(C) Sahara ~© (D) Thar
aul_ Caranmigss56 STeRTUILLTS LTaGUETLD 6Tg)?
&)  Csmd (B ses

©) ssmym D) s

Name the location of Evergreen forest

(A) Temperate region

M Equatorial region

(C)  Subtropical region
(D) Polar region

U&eDLD LTDTE ST(HGeM6 HewellLLb wimg?
Q)  VsGeubear ol LGS

B) Hop@&aCsm_(Huusd

(C) gmewQeuliLiwarels UGS

D) - s e
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70..

71.

72.

(A)

@D HTOSSHED BT g 6) UEESSHL o érer &MHUY uewtd Sle @4@7@9&)

In recent times unaccounted money has been used for financing

Transaction N (B) Precautionary °

Speculative ‘ (D) ' Chéap ‘money

arafiusgnE vwetuBssiu’ L Cs QshEé sTrammomEb.

A) ufwrHpod B) (g)m@me%&rﬂémgs
(C)  oas D) maﬂ@uumm
is sometimes recommended as a remedy for depression.
(A) Creeping inﬂaf,ion B) Cost push inflation
(C)  Price control W Wage cut
G]urr@mrrgrrrr 10hSsSHNG STeurs He sowhseld SmoEDg).
(A)  seuwb vareissd (B) Qeoey o pg uameissid
O Aees _rur® ' D) s GO ‘
Match it :
(a) Prof. Dimock 1. Budget
(b) Prof. Fisher. 2.  Public finance
(c) Prof. Seligman 3. Equation of exchange
(d) Prof. Dalton 4. Tax '
®  (© (d)
,/ 1 3 L Fapy
(B) 1 2 4 , 3
C) 3 1 2 4
‘D) 4 3 2 1
QUTBSSI5 : |
(a) Cugrdflwm gors 1. " aey Qsway b
(b) CGugrAiflur Qegr 2. Qumg B

(c)
(d)

(A)
(B)
©
(D)

@ O

Cuprélflwr Qedl&Guear 3. ufwmHps &méisrurr@

GugrMwir LrebL_ebr 4. afl

(d)

S O e
W =W
N A
o N

27
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T3 Setting up of national clean development mechanism authority as per - ‘ . .

f Kyoto protocol

B)
©)
)

Coastal régulation zone
National chemical management

National environmental policy

—————— @w Geuph Caélw e’rgg,Lb‘srrr'r‘r_'r,g, auerEé) smed DHSMT G @D THLRSSISM

@
®)
©
®)

Hur G apenm
&L Geomry a;L@Lxurn_'_@L‘Ju@g%l
GCadlw @Uarru_leo'rﬁr'rmrr& (P

Caflw &HMIFGLO® Carerans

74.  Arrange the pattern of Industrial growth in India correctly

.
2

i
4
(A)

©

Intermediate goods
Basic goods
Capital goods -

Consumer goods

3124 B) 21,3 4

3,2,4,1 : : 5 %2,3,4,1,

@pHw Gzmfe eaniédlulien cuanasaen LigmL_misalen i LiumLudd euflasuBsS erpsis.

1.
o |
3.
4.
)
©

MVIGS/18

@enL_alflenel) LiGRTL mBigGeT
Siig LILIEHL_ LI LIGHTL_MBISET
LGOS EDTLI LIGTOTL RIS 6T

BISTE|L1 LIGHTL_RISET.

3,1,2 4 B) 21,8 4

3,241 ‘ D) 2,3,4,1
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75. The Declaration of the rights of man was published in the year -
(A) 1817 Iy : \Mwsg
(C) 1897 | D 1978
Las&ﬂg 2 Alenwosar GysLamb Geualudi UL e
@) 1817 L ® 118

© 1897 | (D) . 1978

76.  The council of ministers in the state is responsible to

Mun1c1pal council (B) Parliament

M Leg1slat1ve council (D) High courtA

Lorr.r_ﬂa)g,ﬁei) SMDFETEE THDGL QUTDILILI_WLISTS 2 dTeng)
(A)  psywemd ‘ (B)  umpr@peanmid

(C) &l Lwemid : (D) 2 Wit ‘rj’}@.beiﬂg)fo

7‘7. Father of Local Self Government is
M Lord Rippo;l
(B) - Lord Chelmsford
() ‘ Lord Canning
(D) Lord Mountbatten
2 arenmL_&) yrenhissSen BH®S erem a@@égdu@u@ﬁ
(A) rﬂuusérr Gy
(B)  Qewev Gumi_ Gy
76)) e T o

(D)  Queren Gui e 9y

¢ - | 29  MVIGS/S
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' 78.- The Dowry Prohibition Act was enactment by the parliament in the year

A) 1952 J 1961

© 2000 L D) 2011

UTS_EFMEMS SDL & &LL_LB urpr@sanssre HeapGaunplulL ()

@A) 1952 - | (B) 1961
© 2000 | (D) 2011
79.  Direct Democracy exists in
(A) USA ®) India
(©) Portugal G Switzerland

(’S‘r_r,lqu; é&semr_& pen_Qumitd B 6T5I?

A)  =Qwissr B) @pHur
(C) Guriésase D) sl srembg
80. In which form of Government is the executive not responsible to the legislature?

(A) Collegiate

Parhamentary

M Presidential

(D) Dictatorship

GTOPEND éuwrrrﬁwa‘{;;@d) g6 5L DEDSEDE CuTmILLeL WS B @ESOTLLTT?
RGN

B) unv&@md‘rm Wpem

(C) s@aeum apem

(D) sreurdlary werm
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81. Which salt 1s used in Test Tube funnel experiment?
(A)  Pottassium chloride - ‘ M Sodium bi carbonate
(®)) S‘odium. carbonate (D) Sodium chloride .
1646 GLpa Liamed ey 160 LLETLHSSLLGD 2.0
Q) QurLrdwib GGamer( | B) - Gamgwib L smiLGear

(C)  Gemguwib smriuGan . D) Cemgquwid gGar ”@U C]

82.  Which plant roots yield powerful Alkaloid, named ‘Atropine’?
(A)  Dautura Stramonium
(B) Withania Somnifera

Solanum trilobatum

M Atropa belladona

i srauy Coulisefle s, i Gyl arémp <ydsamii() INF05GEsILESHDS?
&) L @y evprGuorafiui |

@) s s Sabn
(C) Qeewrand LayCamrGuil_Libd

D) e Crrmur QueeCLrenm

83. The most importanf city on the western side‘o‘_f the Ganéetic Piain is
A) | Panipat ®). Simla
v Delhi : (D) Kolkatta
srmes swbeafulier CuneL ynsdeo DAvLDbFIeTaT WESALILLTET BETL 6TF)?
@) urefiouc ' B) Abor
(C)  Gréedl (D) Qaresssm
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84. Krishnadeva Raya was the ruler of the Vijayanagarr empire between
(A) AD. 1485 — 1502 | \/ AD. 1509 — 1530

(C) A.D. 1533 — 1545 _ (D) A.D. 1550 - 1565

AmegamCoourmui elgQuibsy Cuirens & Lfhs smeD?
(A) &.9. 1485 — 1502° (B) 4&.49. 1509 - 1530

(C) ~£.9. 1533 — 1545 D) 4.9. 1550 — 1565

85.  Match the following :

(a) Diwan-i-arz 1. Firoz Tughlaq
(b) Diwan-i-Riyasat 20 Muhammad bin Tughlag
(¢) Diwan-i-Kohi 3. Alauddin Khilji '
(d) Di_wén-i—Khairat 4.  Balban
(@) (b) © @
J ds 'S 2 1
B 1 2 3 4
© 2 4 1 3
@) 3 1 4 2
EpseaTLauhenm Qun@gga; :
(@) Seunaf éqrmm 1. QuCrmev gi&ars
(b) Seurafdl fwrss 2. &gl e gi&ens
(¢ deurafll Garabl 3. Siere|Ser Sl
(d) Heurafl eovsrs y 4, LITEOLI6TT

() ® © @

A 4 3 2 1
® 1 2 s 4
€ 2 4 ! 3
®) 3 1 4 2
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86. .)uring the freedom struggle on which day the Indian National Congress celebrated the

Poorna Swaraj

& January 26, 1930

(B) January 29, 1929

(C)  August 16, 1930

D) August 18, 1930 -

@i GCzflw asridyen | mﬁ]@g,smv GumprlL  asregded Lyewr a'rg,g;ﬁu BIaTms  6Thg  HIer
QameprLmiu’ Lg?

A)  sarau 26, 1930

B) gameuf 29, 1929

(C)  wysevr 16, 1930

D) =sev 18,1930

87. The Benaras Hindu University was founded due to the initiative of
(A) Nehru

.(B) Gandhi

M Madan Mohan Malav1ya

Gokhale
uemyet @bg Ledsmas a;ggaib &@mﬁmgyﬁj@ SMTERTLONS @)(HHSEUIT -
@ oo
B)  arpd
(© LDg,G?r Guorger meredlwim
(D) CsrsCe
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88.

89.

90.

When was the new Enfield Rifle with greased cartridges introduced in the British'ndién
Army? ' ' ' '

- November 1856 (B) December 1856

MJanuary 1857 (D) February 1857

eremie® FuumsSHude Glasrr@uq sLeulul L GamiLméser %IEJQGGDUJ Snsw @Urr@ueug,ﬁm THS
2@ ® LHgns siflapsiu@ssiulLg?

(A)  mpeubuir 1856 B) gebuF 1_856

(C) geweufl 1857 (D) WGyeul 1857

Who shifted the treésury from Murshidabad to Calcutta?
(A)  Curzon A ' (B) Rippon
(C) - Bentinck M Warren H_éstings

sHRDSMS predisrursdambe) soassmelhE wrhBlwieut wimi?
(A)  sfigen B Aduer

(©) Guewngm | (D) aumenGaneviq e

Which is the national river of India?

(A) Brahmaputra : (B) Godavari

\/ Ganges : : (D) Cauvery

@pSuwrelldn CoolL ey erg?
A)  QGybwygyr , ‘ B) Gargmeufl
C) srsT ' D) &rGeufl
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il .In which year ISRO’s Polar satellite Launch Vehicle C36 (PSLV C36) successfully launches

92.

93.

RESOURCES AT-2A remote sensmg satelhte into polar sun synchronous orb1t‘7

A) 2015 W 2016

(C) 2017 : (D) 2018 =

a5 e @pHu AarGaial eurmiss owwusddr gime Qeubms Carar Qaielust @ arsan
C36 (PSLV-C36) Qgrene Qsdlay qu_ug)ma; Camemmenr RESOURCES AT-2Aeneun @flw @aﬂuﬂ]aﬂ
sHoIL urasudd Hnefws? ‘

A) 2015 | B) 2016

© 2017 < (D) 2018

Which one of the following is not a source of Law?

\/ Caste _ (B) Custom

(C) Legislature (D) Religion
Gemeumeuameupdle o) &l'_.l‘_g‘é_ﬂéiﬂ EPMSTILD G)evenad?
A) g : B)  eupsammy

(© e#lLwamb | D) swowb

How many countries participated in the 23 Winter Olympic games which was conducted by

South Korea? |

@A) 102 . Maz

© 9 | ™) 94

Ggs&r@a&mﬂw’mﬁ]@ BenLGubHm 236ug) @.Grﬂ'r'rsrra) écﬁ]dmﬁlé; CZurn'_lq_u_‘ﬂe{) TESMan Hr(H&er urﬂGa;g';rpevr?
A) 102 : : (B) | 92 |

(C) 95 _ " D) 94

35 v . MVIGS/18
: [Turn over




94. Mohit Chauhan has been nominated as the Green Ambassador of this state recently @

(A) Manipur : \MSikkim

(C)  Uttar Pradesh _ - (D) Rajasthan
s8usHe Coradls saunen arhg B[ US®L GIHTTE UNBSMISSILILLTT?.

A)  weefliyr - , B) Asdbd
(©C) 2557 9Csad (D) prgevgmen

95.  This Company filed patent applications i'ela'.ting e-Currency technology recently

M Bazclays (B) IBM

(©)  Google * (D) Facebook
s8ugdled Qbs Flpeuad e-syandl Agmble i Lib QsrLiuns sriyflew Ll Lwb QuDDE.
A LmrdGeed - . B) @b

© wmed D) -Guevs

96. Which is the largest river by discharge volume of water in the world?

(A)  Nile river | -Mmazon ri_ver

(C) Yangtze river : D) Mississippi river
2 Gl Sifls B T(HSg Cadaid B 615 ?

A)  epeo B ‘ B)  oCwsmern B

©) g D) ARG pd

97. Which country is known as the land of White elephants?
(A) Srilanka (B) Malaysia

M Thailand (D) . Indonesia

‘Qaudrener Wrane BT eTer SenpsaILIHID BT 6rg)?
A) Qombos B) wGewdwr

©) sTweTHg ' D) QiCsrCGaradlwm
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98. ,W'hich river is praised in the first Century Tamil epic Silappadikaram? -

(A) Cauvery ‘ (B) Godavari

M Saraswati _ ' (D) Ganges

wpaerd prvorear®h Sl @aosdwnrer HoliudsTrsHd b Eg}@uu Cumddl Lire Ui’ (Hereng.

A)  &rGeufl ‘ (B) Cargreufl
(C)  &yeveud LK D) stos

99. Indiahasa party system.
(A) Single party system |
Two party system

M Multi party system

(D)  Four party system

Qiswr &8 pepmenws Gu;’p@;eﬁm@.‘
A) aobpops o wop

B @w® 5~4'_-eﬂ W

©) L &8 (pen.

D)  preng &8 peop

100. Which is not an International Body?

v SAARC B) UNO
(© IMF (D) IHRC
.éﬁgr)asszim_mmgjdr T 2008 SienLOLIL] @levanen?
(A) amis i - (B) D5 BrHSET HLPHD
(©) uwenem_(® Hl& Bmeuerid (D)  uererm_H weflg 2 Meno Hpad
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o) JORON
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Invigilator. You are allowed to take the Question Booklet with you only after the Examination is over.
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Do not tick-mark or mark the answers in the Question Booklet.
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answer fields left blank.
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